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Cary Willard

Quiz 1a (20 points)




January 31, 2006
All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.

1. (3 points) Tell the number of protons, neutrons, and electrons in 
[image: image1.wmf]3

107

+

Pd

.
Protons__________
neutrons___________

electrons____________

2. (6 points) The furlong is a unit used in horse racing.  There are 8 furlongs in 1 mile and 6280 ft in 1 mile.  If a horse runs 2.00 furlongs in 39.4 seconds, calculate the horse’s speed in mile/hr and km/min.

3. (6 points) Professor Snape developed a new temperature scale to annoy Mr. Potter and his peers at Hogwarts.  This new scale is called the Slytherin (oSs) and in this scale water freezes at 243oSs and boils at 835oSs.  Determine the temperature in Professor Snape’s classroom (13oC) in degrees Slytherin.

4. (5 points) Predict the products of the following double displacement reaction, write a balanced conventional equation, a complete ionic equation and a net ionic equation for the reaction that occurs.  Be sure to include state labels.

Pb(NO3)2  +  Na3PO4  (
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All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.

1. (3 points) Tell the number of protons, neutrons, and electrons in 
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Protons__________
neutrons___________

electrons____________

2. (6 points) The furlong is a unit used in horse racing.  There are 8 furlongs in 1 mile and 6280 ft in 1 mile.  If a horse runs 2.00 furlongs in 48.6 seconds, calculate the horse’s speed in mile/hr and km/min.

3. (6 points) Professor Snape developed a new temperature scale to annoy Mr. Potter and his peers at Hogwarts.  This new scale is called the Slytherin (oSs) and in this scale water freezes at 310oSs and boils at 835oSs.  Determine the temperature in Professor Snape’s classroom (13oC) in degrees Slytherin.

4. (5 points) Predict the products of the following double displacement reaction, write a balanced conventional equation, a complete ionic equation and a net ionic equation for the reaction that occurs.  Be sure to include state labels.

Fe(NO3)2  +  Na3PO4  (
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All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.
1. (4 points) Silicon in nature consists of the following isotopes.
	isotope
	Atomic mass, amu
	Percent abundance

	Silicon-28
	27.97693
	92.21

	Silicon-29
	28.97649
	4.70

	Silicon-30
	29.97376
	3.09


Calculate the weighted average atomic mass of silicon.
2. (5 points) An empty 3.00 L bottle weighs 1.70 kg.  Filled with a homemade wine, the bottle weighs 4.72 kg.  The wine contains 11.0% ethyl alcohol by mass.  How many ounces of ethyl alcohol are present in 275 mL of this wine?
3. (6 points) Professor Snape developed a new temperature scale to annoy Mr. Potter and his peers at Hogwarts.  This new scale is called the Slytherin (oSs) and in this scale water freezes at 302oSs and boils at 856oSs.  Determine the temperature in Professor Snape’s classroom (13oC) in degrees Slytherin.

4. (5 points) Predict the products of the following double displacement reaction, write a balanced conventional equation, a complete ionic equation and a net ionic equation for the reaction that occurs.  Be sure to include state labels.

CaSO4  +  KOH  (
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All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.
1. (4 points) Silicon in nature consists of the following isotopes.

	isotope
	Atomic mass, amu
	Percent abundance

	Silicon-28
	27.97693
	92.21

	Silicon-29
	28.97649
	4.70

	Silicon-30
	29.97376
	3.09


Calculate the weighted average atomic mass of silicon.

2. (5 points) An empty 3.00 L bottle weighs 1.70 kg.  Filled with a homemade wine, the bottle weighs 5.72 kg.  The wine contains 12.0% ethyl alcohol by mass.  How many ounces of ethyl alcohol are present in 275 mL of this wine?

3. (6 points) Professor Snape developed a new temperature scale to annoy Mr. Potter and his peers at Hogwarts.  This new scale is called the Slytherin (oSs) and in this scale water freezes at 364oSs and boils at 856oSs.  Determine the temperature in Professor Snape’s classroom (13oC) in degrees Slytherin.

4. (5 points) Predict the products of the following double displacement reaction, write a balanced conventional equation, a complete ionic equation and a net ionic equation for the reaction that occurs.  Be sure to include state labels.

MgSO4  +  NaOH  (
_1200160342.unknown

_1200161911.unknown

